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Math 9 Enriched: Circle Geometry Assignment 7.1 - Central angle and Inscribed Angles

Properties 1: An inscribed Angle of a
chord is equal to half of the Central
Angle by that same/equal chord

Property 2: Angles inscribed by the

diameter are 90 degrees. Angles
inscribed by a semicircle are
90degrees.

1. Find the value of the missing angles

Property 3: All inscribed angles by
the same/equal chords are equal
(Rabbit ears)

) Z1=60° £2=40°
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i) £3=<0"
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Z4=70"

i) £5= 35" £6=953 Z1=qp°

iv) Z4=]20

Z5=%0°

v) L6 =<0 LT =7250° L8 = |40°

\

vii) £2 = 70° /3= zz70°
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iX) Z4=37°/5=35 £6= 10"
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£9=3%°

Xii) Z5=42° Z6=¢°
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2. Find the value of each of the following angles:

i) Lx=33" Ly=66" Lz=33° i) Zx=52° Ly=33%° i)y Zx= 36" Ly= 43"
y 69 9
iv) ZX=(42° Ly = 96" v) Zx=[371° Ix=0% Ly=45"Lz=45°

Zt=7%"Lv=45"

279

88°

LocA= P-4
40(6=7
J Acp =90
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4, With all four vertices A,B,C, and D on the circumference, prove that the opposite angles A and D are
supplementary and also angles B and C are supplementary.

Ja+2b+2c+2d = 360

arb c+d =[80°

5. Given that angle POR is a central angle and angle PMR is an inscribed angle by chord PR, prove that angle POR

is twice angle PMR.
M Z Mol = |50 -2 %

~ MoR = (YO—'ZJ
LPOR = 2(’%4‘)7
\é
R

6. Given the following diagram, where all the points from A to L are equally spaced along the circumference,
what is the degree angle of FAFEH ?

)

(

Z A :?—Zv\%tf

= IS()‘°

JAEH=75"

7. Ifthe angle y is 58 degrees more than angle z, what is the value of angle “x"?

\ grSETZ g e
] 360> 1167
%’ 2
¥ 122°

8. Given that angle A is 198degrees more than angle B, what is the degree of angle “x"?

360°-2m>= B+ [73°

2B = [62°
> =54°
2R = 10%°
x=36"
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9. Given that O is the center of the circle and that both angles CAD and angles CBD are inscribed by chord DC,
prove that the angles are equal.

10. In the diagram, AB and BC are chords of the circle with AB < BC. If D is the point on the circle such that AD is
perpendicular to BC and E is the point on the circle such that DE is parallel to BC, carefully prove, explaining

all steps, that ZEAC + Z4ABC =90° .
| LEAC +%

D £ PB(=pEC  RABPTENS-

E

LEAC V(NG (=90

11. In the diagram, it is given that chord WY bisects angle VWX, prove that angle VZW is equal to angle WXY
w W

N

12. In the diagram shown, ZABC =90°, CB|| ED, AB = DF, AD =24, AIf =25 and O is the center of the

circle. Determine the perimeter of CBDF.

T ” B3Il ED ED_LAD )
ADiS Jf«me"’?r J ZAFD:QO

D - A 2 AFD~AADE bj MA - ED =7 l’j @*kyww\

0B AD DF Bt e
AE:EE;DF—Z_S,AB-*?
AARC ~HADE laj AAA .
i - 2 A AC=T] - BT g
AD ED EA - _
a3

Fc=1lg ., PB= —¢
[10 €

Perimeter= Tz
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